                                   ATOMIC ENERGY EDUCATION SOCIETY 
           SESSION 2020-2021                              WORKSHEET 1                CLASS VII
SUBJECT SCIENCE
1. Choose the correct option.
I. Which of the following is not a vegetative part of the plant.
a. flower      b. leaf       c. stem       d. root
II. The process by which yeast multiplies.
a. fission    b. fragmentation       c. spore formation  d.budding
III.  Reproduction by fragmentation is common .
a. Spirogyra     b.mucor    c. bacteria   d. mosses
IV. Asexual reproduction involves -------- parents.
a. One     b. two     c. three          d. four  
V. ------- is a special structure bearing spores which help in asexual reproduction.
a. sporangium     b. ovule     c. fruit    d. stem  

2. Answer the following questions.
1. Name the vegetative parts of a flowering plant?
2. Which is the reproductive part on a flowering plant?
3. Name the organs of plant body which help 
a. sexual reproduction 
b. vegetative propagation 
4. List the modes of asexual reproduction
5. Can plants be multiplied artificially with help of vegetative parts? If yes ,list some of the common methods.
3. Explain the following terms
a. budding    b. fission  c. fragmentation    d. spore formation

